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Hakan Berument

On the text Web site (www.aw-bc.com/stock_watson).you will find a data file CPS04 that contains an extended version of the data set used in Table 3.1 for 2004. It contains data for full-time, full-year workers, age 25-34, with a high school diploma or B.A./B.S. as their highest degree. A detailed description is given in CPS04_Description, also available on the Web site. (These are the same data as in CPS92_04 but are limited to the year 2004.) In this exercise you will investigate the relationship between a worker's age and earnings. (Generally, older workers have more job experience, leading to higher productivity and earnings.)
Consider the following model

Ahei = β1+ β2 Femalei + β3 Agei + ui
1. Estimate the above specification. 
2. What is the model for male agents? 

3. What is the model for female agents?

4. What is the estimated intercept for male agents? What is the estimated intercept for Female? 
5. What is the interpretation of the estimated coefficient for Female?

6. What is the interpretation of the estimated coefficient for Age?

7. Test if gender makes a difference after Age has been controlled when α=0.05?

8. How can you test if females earn same as male after Age has been controlled α=0.05?

9. Bob is a 26-year-old male worker. Predict Bob's earnings using the estimated regression. 
10. Clara is a 30-year-old female worker. Predict Clara’s earnings using the estimated regression.
11. Construct a 95% confidence interval for the slope coefficient.
Consider 
Ahei = α1+ α2 Malei + α3 Agei + ui

where Male = 1-Female

answer the above questions?  Any pattern?
